Wednesday, October 14, 2020

10:28 PM

Math 9

Ch 6 Review Inequalities

Name L]eni\se

1.  Solve for r given = 4+ 45 = 91.

~x=9)-45

3. Solve for r given x — 46
X=96+4bk

. 1

5. Solve for x given 4z + 29 = —105. [i%
Hx=-105-29
“4x=-I13y

7.  Solve for ¥t T

Lx=-48

9. Solve for r given 4(3x - 7) = -T.
12X-28 =3
\2x =21

11.  Solve for z: I'-}J—;T = : 12
3ex-2| =20x+72
tux =43

13. Solve: x— 44 < =3

5. Solve: 12—z <31
—x<L3\-1z
—X£19

17, Solve: 44— < —31

-X<-35
|

d

10,

2

16.

pate 0 29. 2020
Solve for z given z + 34 = T2.
X=F2-34
Solve for z given = + 64

X=22-6Y

‘-su]n for = given _'J — 23 =125

Ex=ug ﬂ-’,x 00
5;) 4

x= ‘l%
Solve for z: 4(3z-T7) =7

12X—28=73
\2x=39

Solve for = given ;-_.r — 1)+ 4x=2(3x + 1).

232,

dx ~Y4+Hx = bX+2

ex—t =bx+2
2x= 6

Solve: & — 26 > 35

. Solve: x - 26> -35

Solve: 26 —x > 35
-x>9
Lxy2
=7z
G[x<=q]

Solve: 26—z =

—X>-6|

—35
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19. Solve: 5r— 18 > 2{4x — 15) 20. Solve: —4(—6— 5x) — 23 < 9(2x +3)
Sx—18>8x—30 29+20x-23 < I18%427
12 73% 20X+ < 1§ x+2F
X< 26

22, How many of the following numbers are solutions

21 How many of the following numbers are solutions
to 13 = 2x < 287

0000 - 000

?x <30 — XIS
x>

:

Solve.
23, 8-2r+13<5r-3-2r 24, K4+ 10+6k—12 >4k -2k
Hrexcsx-3 K+O+6k-12 >2K %—C K
LES 72 72K 51,
-27-5K

26. T(3=dn)<12n-19

bx—135 >5x—3 21-28n<2n-19
40 ¢ 4on

x>

25. ¥2xr=5)>hHhr-3

28. 11(2 - z) < 3z — 4(2r + 5)
PUHS <po-9u—3 22-(1x € 3x-8x+2D
lOH'HSC_ S:’ —qu 2i-Wwx € —$X 420

2 ¢ o

\Yw< 42

30. Which inequality describes the graph?

270 52w+ 3) < H15 —w) -3

The cost of a new car (N) is more than 4 times

29,
the cost of a particular used car (U7). Which of
—_—tt
30

the following relationships correctly describes the » -1 b LA
relationship between N and U7
® a) 3r < -30 b) —3r < 30 @.‘SJ' < 30
N =aU b} U< 4N
' d) —3xr<-30 e} —3r>-30
e) N-U=4 d) N=4Ul +4

x>-10

el U= N

N >4V ~¥Xx>30
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39,

Solve for m: n+(n+1)+(n+2)=-75

a) —zx> -3

d) —

i 1] i
a) —r>—4 b) —x< -4 c) —a -4
-rz-4 e) —r<d

Angela’s basketball team is in first place in
their league. The second place team has won

10 games. Write an inequality that describes the
number of games won by Angela’s team.

X 21020

Write an inequality to describe Tom's height.
Tom is taller than Elise, who is 54 inches tall.

T 254

£10.000 plus 2 times her

a house. What is the smallest yearly income

ual income to buy

she must have in order to afford a house that is
£113.0007

0 000 +2a, > W3 ©00
2a_2 103000
o> Sls00

her InLome mustde
ot least §S\S00 |

38, Lincoln Junior Higl

32, What is the number of integer solutions to

1<t !

x=72.3,4

34, Which inequality deseribes the graph?

4
I T T
3 3

> =3 b) —x < -3 c] —xr< -3

e] —x<3

3<x b -3<n Y

36.  Which inequality describes the graph? -X >_’3

. I n
¢ T T *

1 [ 1
a) —r>—4 @—.{ < -4 c)] —xr< —4
d) —z> -4 e)

x4

s debate team is in second
place. The first place debate team has won
12 debates. Write an inequality describing the
number of debates won by Lincoln.

29%X>0

10.  Sandy and Therese were born on the same date,
but different vears. Sandy ig 15. Therese is

r than Sandy. Write an inequality to

: Therese's

\S>T 20

age.

12, Carmen is buy a new car, and wishes to spend
no more than £ of his yearly salary on the car.
£11.500. What is the

vearly salary he must make in order to

The car he wants cost

EXx 211500
X > W50 %o
X2 23350

Mwmﬁmm]
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